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CHAPTER 7

Recording Financial
Information

@ Eva Kali/Shutterstock

» Double Entry and the Accounting Equation—The

Golden Rule of Accounting
I I\inancial accounting consists largely of keeping the financial history of the organization. In

performing financial accounting, the accountant attempts to keep close track of each event

that has a financial impact on the organization to facilitate financial statement preparation.
By keeping track of events or transactions as they happen, the accountant can periodically sum-
marize the organization’s financial position and the results of its operations.

To keep track of the organization’s financial history, the accountant has chosen a very com-
mon historical device. In the navy, officers keep a chronological history of a voyage by daily entries
into a log. For a personal history, individuals make entries in their diaries. Explorers frequently
record the events of their trips in a journal. Accountants follow in the tradition of explorers, each
day recording the day’s events in a journal, referred to as a general journal. The entries the accoun-
tant makes in the journal are simply called journal entries, and the general journal is often called
the book of original entry. This term is used because an event is first entered into the organization’s
official history via a journal entry.

In recording a journal entry, adequate information to describe an entire event is needed. To
be sure that all elements of a financial event (more commonly referred to as a transaction) are
recorded, accountants use a system called double-entry bookkeeping. To understand double entry,
we should think in terms of the basic equation of accounting;

Assets(A) = Liabilities(L) + Net Assets (NA)

Any event having a financial impact on the organization affects this equation because the equa-
tion summarizes the entire financial position of the organization. Furthermore, by definition, this
equation must always remain in balance. Absolutely nothing can happen (barring a mathematical
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with the equation looking like:

A = L + NA
$300,000 = $200,000 + $100,000
This equation essentially tells us that the orga-
00,000 of assets, and these
assets were financed with $200,000 of bor-
rowing (liabilities) and 100,000 of operating
profi < or contributions (et assets). If the orga-
nization were to borrow $40,000 from the bank,
it would have more cash—assets would increase
by €40,000—and it would owe more money to
the bank—liabilities would increase by $40,000.
The equation would, thus, change to:

nization OWN

A = L + NA
$340,000 = $240,000 + $100,000

The equation is in balance, with each side at
$340,000. Compare this equation to the pre-
vious example. Two numbers in the equation
have changed. Double entry signifies that it
is not possible to change one number in an
equation without changing at least one other

number
However, the two numbers that change
need not be on different sides of the equa(io%l
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y ) cas]

it? The asse h for

cash” would decrease, whereas

inventory” would i
: ) in
equation becomes: e The

the asset *

o A e L + NA
$340,000 = $240,000 + $100,000

The equation appears as if jy |

= ) hasn'
at all, but that’s not quite true. St changed

The left side of

the equﬂtion has both increased and g

by $30,000. Although the totals op em:rensed

are the same, mlr\]ournal entry Wouler Side

recorded the specific parts of the doub|, ave

change that took place on the left Sid::fn:}rly
g

cquation.

» Debits and Credits—
The Accountant’s
Secret

-
It wouldn't be much fun to be an accounty
if you didn't have a few tricks and Secre::
Later in this text we discuss a few of the mo,é
interesting tricks; here, however, we discuss
secret, the meaning of debit and credit.

Previously, an accountant’s journal wa
compared to a naval logbook. That’s not the
only similarity. Sailors use the terms port and
starboard. If you've ever watched an old sea-
faring movie, in the middle of a fierce storm,
with the skies clouded and the winds blowing,
the seas heaving and the rains pouring, you
may have heard someone yell out, “Hard to
the port!” The sailor at the large oaken wheel,
barely able to stand erect in the gusts of wind
and the torrential downpour, struggles hard
to turn the ship in the direction ordered. Per-
haps you thought they were heading for the
nearest port—ergo, “Hard to the port.” Notat
all. The shouted command was to make 2 left
turn.

It seems that port simply stated
and starboard really means right. Of course
its more sophisticated than that: port means
the left-hand side as you face toward the front
of the boat or ship, and starboard means the
right-hand side as you face the front: Reallf
what port means is debit, and starboard means
credit. Certainly, we can drape the term$ deblt
and credit in vague definitions and esoteri
uses, but essentially debit means left, 2% you
face the accounting document in front of Yo
and credit means right.

means left

Perhaps you had figured that out on your
own, perhaps not. If you had, then you are
potentially threatening to take away the jobs of
your accountants and bookkeepers. To prevent
that, some rather interesting abbreviations
have been introduced to common accountin,
usage. Rarely will the accountant write out !hi
words debit or credit. Instead, abbreviations
are used. The word credit is abbreviated “Cr.”
Got it? Then you can guess the abbreviation
for debit, “Dr” If you didn’t guess, it’s not too
surprising, given the absence of the letter “r”
from the word debit. How did this abbrevia-
tion come about? Accounting, as we know it
today, has its roots in Italy during the 1400s.
Italy is the home of Latin, and were we to trace
the word debit back to its Latin roots, the “r”
would turn up.'

Debit and credit deserve a little more
dlarification. Prior to actually using debit and
credit, accountants perform a modification
to the accounting equation (i.e., Assets [A] =
Liabilities [L] + Net Assets [NA]). Essentially,
this modification requires examination of
what causes net assets to change. As presented,
the balance sheet equation is:

A=L+NA

To find out where an organization is at the end

. ofa year, we need to know where it started and

what changes occurred during the year. The
changes in assets are equal to the change in lia-
bilities plus the change in net assets, or:

AA=AL+ANA

where the symbol “A” indicates a change
in the number it precedes. For example,
AA represents the change in assets (i.e, an
increase or decrease in resources owned by the
organization).

Moving a step furt
as a result of revenues

her, net assets increase
(R) and decrease as 2

1 The abbreviation can be tra
the word.

ced back to the Latin past participle of
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result of expenses (E). Revenues make owners
better off and expenses make owners worse
9fﬁ Therefore, our basic equation of account-
ing indicates that the change in assets is equal
to the change in liabilities plus the change in
revenues less expenses, or in equation form:

AA=AL+AR-AE

The only problem with this equation as it now
stands is that accountants are very fond of
addition, but only tolerate subtraction when
absolutely necessary. The above equation can
be manipulated using algebra. We can add the
change in expenses to both sides of the equa-
tion, producing the following equation:

AA+AE=AL+AR

Having made these changes in the basic equa-
tion, we can return to the discussion of debits
and credits. When we say that the debit means
left, we mean that debits are increases to any-
thing on the left side of this equation. When
we say that credit means right, we mean that
credits increase anything on the right side of
this equation. Of course, that leaves a slight
problem. What do we do ifsomething on either
side decreases? We have to reverse our termi-
nology: an account on the left is decreased by a
credit and an account on the right is decreased
by a debit.

Debits and credits are mechanical tools
that aid bookkeepers. Debits and credits have
no underlying theoretical or intuitive basis. In
fact, the use of debits and credits, as explained
here, may seem counterintuitive. Cash, which
is an asset, is increased by a debit and decreased
by a credit. If you think about this, it may not
tie in with the way you've previously thought
about debits and credits. In fact, this may seem
to be downright wrong. Most individuals who
are not financial officers have relatively lit-
tle need to use debit and credit in a business

debitum: “debere.” returning the “r” to
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i & 4oX ln the left, our assets should
bit. But when the bank deb-
its our account, it takes money away from
our account. The discrepancy results fmfn
the entity concept of accounting, discussed in
Chapter 4. Under the entity conceph eacl) entity
must view financial transactions from its OWn
point of view. In other words, the nrgaflization
shouldn't worry about the impact on its own-
ers, managers, OF CUSIOMETS; it should only
consider the impact of a transaction on itself.
\When the bank debits your account, it is not
considering your cash balance at all! Rather
the bank is considering its own set of books.
To the bank, you are considered a liability. You
give the bank your money and the bank owes
that amount of money to you. The bank’s focus
is on the fact that is has a liability to repay
you. When the bank debits your account, it is
saying that it is reducing an item on its right;
the bank is reducing a liability. To you, as an
entity, there is a mirror image. Whereas the
bank is reducing its liability, on your records,
you must reduce your cash, which is an asset.
A'reduclion in an assel is a credit. Therefore,
withdrawing cash with your debif cerd would
actually cause you to record a credit on your
books or financial records, because an a:
has decreased. it
Consider

the left

and assets are ©
increase with @ del

returning  merchandi

si r ndise to
a store. The store issues you a credit gj
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In other words, about the best
insult your accountant is to call him othto
a credit (that is, liability) to the orgap; er
tion! You'll have to reflect on this new v, 3.
{hinking about debits and credits for a w},i]eo.
you're not accustomed to it, and if you wigy tlf
become fluent in the use of debits and Cl‘edilq
Unfortunately, because the items on one side :f
the equation increase with debits and the itemg
on the other side decrease with debits, and vice
versa for credits, it can take a while before it
becomes second nature. Imagine a produc
managertrying to explain to an accountant that
a new product is going to generate extra cash
of $100,000. The accountant says, “Okay, debit
cash $100,000,” and the product manager says,
“No, no, I said it will generate $100,000, not use
it?” Of course the accountant replies, “That’s
what I said, debit cash a hundred grand!”

If you still find debits and credits some-
what confusing, don't be overly concerned.
Trying to look at things from a mirror image
of what you've been used to all your life isn't
casy. Fortunately, debits and credits are simply
bookkeeping tools, and you don't need to use
them extensively to understand the concepts
of accounting and finance. Never hesitate to
ask an accountant to put aside use of the terms
debit and credit and to simply explain what is
going up and what is going down.

» Recording Financial
Events

Now we are going to work through an example
in which we actually record a series of trans®
actions for a hypothetical health care organiz”
tion, Healthy Hospital, for 2019. The purpos®
of this example is to give you a feel for the waY
financial information is recorded and show
the process by which millions of transaction®

occurring during a year can i
into seYeral pages of fz’nancial st‘;:ersnue:tr:i{:z';d
same time, we use the specific transacticns i
the example to highlight a number of accou ltn
ing conventions, principles, and methods. "

TABLE 7-1 presents the balance sheet for
Healthy Hospital, as of December 31, 2018
From this balance sheet, we obtain in,forma-‘
tion about assets, liabilities, and net assets for
the beginning of 2019. Year-end closing bal-
ances from the balance sheet will be identical
to opening balances for the following year. Our
basic equation at the start of 2019 is:

A = L + NA
$300,000 = $134,000 + $166,000

To examine financial events during the year,
we are interested in the change in this equa-
tion. As explained, the change in the equation
may be stated:

AA+ AE= AL+ AR

Every financial event is a transaction that
affects the basic equation of accounting.
Accountants should keep track of whether or
not each transaction complies with the rules
of double entry by examining its effect on this
equation. After a journal entry is recorded,
placing an event into the financial history of
the organization, this equation must be in bal-
ance, or some error has been made. The way
accountants actually record journal entries
ensures that the equation remains in balance
at all times. Each journal entry first lists all
accounts that have a debit change, and then
lists all accounts that have a credit change.
The account names for accounts with a debit
change are recorded in a column on the left
and the account names for accounts with
a credit change are recorded on a column
indented slightly to the right. Similarly, the
actual dollar amounts appear in two columns,
with the debit column on the left of the credit
column. For example, suppose we buy inven-
tory and pay $12 cash for it. One asset, inven-

tory increases by $12, and another asset, cash,

Recording Financial Events 61

TABLE 7-1 Healthy Hospital

Balance Sheet
As of December 31,2018
Current assets
Cash $ 104,000
Accounts receivable 36,000
Inventory 40,000
Total current assets $ 180,000
Fixed assets
Plant and equipment __120,000
Total assets $ 300000

Liabilities

Current liabilities

Accounts payable $ 34,000
Wages payable 20,000
Total current liabilities $ 54000
Long-term lizbilities
Mortgage payable 80,000
Total liabilities $ 134000
Netassets
Net assets without donor $ 146,000
restrictions
Net assets with donor __20000
restrictions
Total net assets $ 166,000
Total liabilities and net assets $ 300000

decreases by $12. In journal entry form this
would appear as:
Dr. Cr.
Inventory $12
Cash $12
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» Healthy Hospital 2019
Financial Events

In the example that follows, we indicate the

tof each transaction on the fundamental
1 of accounting and then show how it
appears in journal entry form.

I, January 2. Purchased a 3-year
fire insurance policy for $6,000.
A check was mailed. The start-
ing point for making a journal
entry is 1o determine what has
happened. In this case, we have
$6,000 less cash than we used to,
and we have paid in advance for
3 years worth of insurance, Any
ttem we would like 1o keep track
ofis called an accouny, because we
Want 1o account for the amount of
that item. Here, the balance in our
cash account (ap asset)
down, and gur
(P11) accouny (

has gone
Prepaid insurance
also ap asset) hag
results in offgey.
he lefy sige of the

€ 1510 net effeqy
€quation,

ncreased. Thig
ting changes o ¢
cquation, 5o they
or change 1o he

ol Informatio”

Cash-30,000

+ AE = AL4ap

AA -
(:.15]1-6,000 = No Chﬂnge
onright sig,
P/1+6,000 i
Dr. Cr.
P,-epaid insurance  $6,000
Cash $6,000
2. January 18. The hospital mail
check to its supplier for $30,009

of the $34,000 it owed at the end
of last year. (Refer to Table 7.1 o
the accounts payable [A/p] liability
balance at the end of the Previous
year.) This requires a journal entry
showing a decrease in the cash bg].
ance and a reduction in the A/p j,.

bility to our supplier.
+ AE = +AL +AR
= A/P —30,000
Dr. Cr.

Accounts payable  $30,000
Cash $30,000

Notice that when we look at the
impact on the equation, both cash
and accounts payable are negative
numbers; each decreases by $30,000.
In the journal entry format, nega-
tive signs are never needed or used.
The decrease in cash is a credit, and
appears as $30,000 in the credit col-
umn. The decrease in accounts pay-
able results in a debit and appearsin
the debit column.

3. February 15. The hospital places an
order with an equipment manufac-
turer for a new piece of machinery:
The new machine costs $20,000
and delivery is expected early ne¥t

year. Both Healthy Hospital and
the equipment manufacturer sign
a contract. In this case, there is no
journal entry even though there is
alegally binding contract,

The timing for recording trans-
actions in journal entries requires
three requirements be fulfilled.
The first is that we know how much
money is involved. In this case, we
do know the exact amount of the
contract. The second is know-
ing when the transaction is to
be fulfilled. Again, we know that
delivery will take place early the
following year. Finally, the accoun-
tant requires that there must have
been some exchange and that the
transaction be recorded only to
the extent that there has been an
exchange. From an accounting
point of view, Healthy Hospital has
not yet paid anything, nor has it
received anything. There is no need
to record this into the financial his-
tory of the organization via the for-
mal process of a journal entry.

Not creating a journal entry
doesn’t mean the item must be
totally ignored. If an unfilled con-
tract involves an amount that is
material, then the principle of full
disclosure requires that a note to
our financial statements disclose
this future commitment. However,
the balance sheet itself may not
show the machine as an asset or
show a liability to pay for it.
March 3. Healthy Hospital pur-
chases inventory on account for
$30,000. Healthy Hospital will use
this inventory in the delivery of care
for which they will be paid $60,000.
The effect of this transaction is to
increase the amount of inventory
(Inv.) asset and increase a liability,

Healthy Hospital 2019 Financial Events 63

A/P. Do we record the newly pur-
chased inventory at $30,000 or the
amount that will ultimately get
paid? According to the cost prin-
ciple, we must value inventory at
what it costs even though it will be
used to generate revenues greater
than that amount.

AA + AE = AL +AR
Inv.+30,000 = A/P + 30,000
Dr. Cr.
Inventory $30,000
Accounts payable $30,000
5. April 16. Cash of $28,000 is
received from third-party payers
for services provided to patients
last year. This increases one asset,
cash, and reduces another asset,
accounts receivables (A/R).
AA + AE = AL+AR
Cash +28,000 = No change
on right side
A/R - 28,000
Dr. Cr.
Cash $28,000
Accounts receivable $28,000
6. May 3. Healthy Hospital treats and

discharges a patient for which they
used $58,000 worth of inventory
and have billed the patient’s insur-
ance company the agreed-upon rate
0f $112,000. This is an income-gen-
erating activity, and Healthy Hospi-
tal has revenues of $112,000 from
the service. It also has an expense
of $58,000, the cost of inventory
used during treatment. (There
would obviously be other costs
directly related to treatment, such
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an A/R of 1 12,000. This leaves the
accounting equation in balance.
The second transaction con-
cerns inventory and expense. To
provide the service, Healthy Hos-
pital used some of its inventory.
Thus, it has less inventory on hand.
This reduction in inventory is off-
set in the accounting equatinn by a
correspond'mg inventory expense.
Once again, this transaction
leaves the accounting equation in
balance.

clates to ¢
d to the expense:
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Ithy Hospital gene
revenue (PSR)
have to record

A4 + AE =AL +AR
AR = Patient
+ 112,000 Services
Revenue
+ 112,000
Inv. Inv. Exp.
T 56,000 + 56,000
Dr. Cr.

Accounts receivable §) 12,000
Inventory expense 56,000

Im‘entory
$56,000
PSR 4
112,000
7

;L;‘nes 1176 ngall:y Hospital places
o 220000 order to resypp)y |
inventory, The goods haveP:o)t' yl:i

been received. In this cy
is no formal journal ent
purchasing department
edly keeps track of open purc
orders. However, as in the cas“
the equipment contract diSCu:O
previously, there is no jou sed
entry until there is an exchan :nal
at least one party to the trais by
tion. Healthy Hospital hagpy i
for the goods and the supplies ]1::
not yet been received. o
8. November 14. Employeeswere paid
$36,000. This payment includeg
all balances outstanding frop, the
previous year. Because Healthy
Hospital is paying $36,000, cash
decreases by $36,000. Is this ]| an
expense of the current year? Ny,
Healthy Hospital owed employees
$20,000 from work done during
the previous year. Thus, only
$16,000 is an expense of the cyr-
rent year. The journal entry shows
that labor expense (Labor) rises
by $16,000 and that wages payable
(W/P) declines by $20,000. Note
that three accounts have changed.
Double-entry accounting requires
that at least two accounts change.
The equation would not be in bal-
ance if only one account changed.
However, it is perfectly possible for
more than two accounts to change.
Here we can see that although
three accounts have changed, in
net, the equation is in balance.

e, th
e
ool

-
ndoub“

A4 + AE = AL + 4R
Cash=36,000 Labor +16,000 = W/P - 20,000

Dr. Cr.
Labor expense §16,000
Wages payable 20,000
Cash $36,000

AA

December 31. At year-end,
Healthy Hospital makes its annual
mortgage payment of $20,000.
The payment reduces the mort-
gage balance by $8,000. It doesn’t
seem correct to pay $20,000 on a
liability but only reduce the obli-
gation by $8,000. Actually, mort-
gage payments are not merely
repayment of a debt. They also
include interest owed on the debt.
If Healthy Hospital is making
mortgage payments on its plant
and equipment just once a year,
then this payment includes inter-
est on the $80,000 balance out-
standing at the end of last year
(see Table 7-1).

If the mortgage is at a 15%
annual interest rate, then Healthy
Hospital owes $12,000 of inter-
est for the use of the $80,000 over
the last year (15% X $80,000
= $12,000). Thus, the transac-
tion lowers cash by $20,000, but
increases interest expense (IE)
(also on the left side of the equa-
tion) by $12,000. The reduction of
$8,000 on the right side to reduce
the mortgage payable (M/P)
account leaves the equation exactly
in balance.

+AE =AL +AR

Cash-20,000 IE+12,000 = M/P-8,000

Dr Cr.
Interest expense $12,000
Mortgage payable 8,000
Cash $20,000
10.  December 31. At year-end, Healthy

Hospital makes an adjustment to
its books to indicate 1 year's worth
of prepaid insurance has been used
up. Many financial events happen
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at a specific moment in time, and
those cases are simply recorded
when the event happens. Some
events, however, happen over
a period of time. Technically, it
could be argued that a little insur-
ance coverage was used up each
day, 50 the accountant should have
recorded the expiration of part of
the policy each day or, for that mat-
ter, each minute. There is no need
for that degree of accuracy. The
accountant merely wants to make
sure the books are up to date prior
to issuing any financial reports
based on them. Therefore, a num-
ber of adjusting entries are made at
the end of the accounting period.

You might ask why the accoun-
tant bothers to make such an entry
even then. Why not wait until the
insurance is completely expired?
The answer is that the matching
principle would not allow that. In
each case of an adjusting entry, the
overriding goal is to place expenses
into the correct period—the period
in which revenues were generated
as a result of those expenses.

In the case of the insurance,
Healthy Hospital has used up one-
third of the $6,000, 3-year policy,
so we must reduce our asset, pre-
paid insurance (P/I), by $2,000 and
increase our insurance expense
(Ins.) account by $2,000.

+AE = AL+AR

P/1-2,000 Ins. +2,000 =Nochange

on right side

Dr. Cr.

Insurance expense $2,000
Prepaid insurance $2,000




AA+AE

Labor expense
Wages payable

il
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December 31 Healthy lh\?'y:al 2!1\18
that it owes office cn\p\u}‘cx:cu“;‘qcs
the end of the year. Thes \ an
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The entry increases la.bor x\}fde
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wages payable liability account.
= AL +AR
Labor + 6,000=W/P + 6.000

Dr. Cr.
§6,000
$6,000

12, December 31. The plant and equip-

ment that Healthy Hospital owns
are now 1 year older. To get a proper
matching of revenues for each
period with the expenses incurred
to generate those revenues, the cost
of this plant and equipment was
not charged to expense when it was
acquired. Instead, some of the cost
isallocated to each year in which the
plantand equipment helps the orga-
nization provide its goods and ser-
vices. The journal entry increases an
expense account, called depreciation
expense (Depr), to show that some
of the cost of the asset is becoming
an.expeme in the current period. In
his year, the expense amouns 1o
$12.000. Chapter 19 g
clclation of of xscus.ses. the
The other mL\\ a iy
the double-entry ssslce‘ (recau that
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formation

AA +AE = AL+AR
PE-12,000 Depr. +12,000 =Nq )
3
On right g,
Dr. Cr
Depreciation expense $12,000
plant and equipment $12,009
These transactions for Heahhy Hospi
give a highly consolidated view of the ‘}}:(‘::l

sands, millions, or quite possibly billiong t
transactions recorded annually by an 0rgan?
zation. These few transactions cannot hope :
have captured every individual transaction oer
type of transaction that occurs in a Pparticular
organization. However, in this brief glanc
you can begin to understand that there is;
systematic approach for gathering the raw bt
of data that make up the financial history of
the organization.

There may be an enormous number of
individual journal entries for an organization
during the year. Chapter 8 examines how to
consolidate and summarize these numerous,
individual journal entries to provide useful,

summarized information to interested users of
financial statements.

» T-Accounts

Accountants frequently use a device called
T-accounts as a form of shorthand when they
consider the financial impact of transac-
tions. For any account that might be affected
by 2 Transaction, the accountant draws @
large “T and places the name of the account
on the top, For example, in the first transac
‘}I{On f‘or Healthy Hospital in 2019, Healthy
s:;‘;‘;al purchased an insurance policy for
an,d - This affects both prepaid insuranc®

€ash, and T-accounts would be set up
ollows:

1 Irgpal@ Insuranc

Within the T-account, any entries on the
left side of the vertical line are debits, and
any entries on the right side are credits. The
purchase of $6,000 of insurance on January 2,
2019, generates a debit to prepaid insurance
and a credit to cash as follows:

172119

$ 6,000

1/2119

$ 6,000

Often, T-accounts are used to assess the
balance that remains in an account after a trans-
action. From Table 7-1, you see that at the end
of 2018, Healthy Hospital had $104,000 in cash
and no prepaid insurance. You can add this
information to the T-accounts and then sum-
marize the position immediately following the
transaction to purchase the insurance as follows:

12/31/18  $ 104,000

1219 $ 6000

Ending

balance i_g__&ﬂ
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Prepaid Insurance

1213118 $ 0

172119 6,000
Ending
balance $ 6,000

Notice that when the beginning debit
balance of $104,000 of cash is combined with
the $6,000 credit transaction on January 2, the
result is a $98,000 debit balance. The $6,000
credit reduces the total amount of the debit
balance in the same way that a negative num-
ber offsets a positive number.

The use of T-accounts by accountants for
informal discussions and analyses is quite com-
mon, even though T-accounts are not generally
part of the organization’s formal accounting
system. The biggest problem T-accounts create
for nonaccountants is that negative signs are
not used. Each part of a transaction, or journal
entry, is recorded in a T-account on the left or
right side of the T, depending on whether it is a
debit or credit, respectively. When you look at a
T-account, to understand if the account balance
is increasing or decreasing as a result of a specific
entry, the user must be aware whether each spe-
cific account is an account that increases with a
debit or a credit. Simply keep in mind that assets
and expenses increase with debits and decrease
with credits. Liabilities and revenues increase
with credits and decrease with debits.

)j\art of Accounts

Up until this point, we have referred toaccounts
by their names, such as accounts receivable or
wages payable. In practice, most organizations
find it helpful to assign code numbers to each
account. This facilitates the process of record-
ing journal entries in the computer systems
widely used for accounting.
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o will usea fairly
Typically, an organuz:x;xz?n\g\ l,]\lumbers. =]
systematic approach {9 ?& jmhcrs must begin
cxample, all asset LtOdL n e ues with @ 3,
with 1, liabilities with @ 2. 7¢ cond and third
and expenses with a4, “1‘%?1?-S:nformali0ﬂ~ In
digit providing more §Pﬁ|1: represented by
his example, cash migh X o
(100 and accounts receivable might be repr
sented by 110, Most organizatﬁnselzao;ii ri:“;f
from many customers. A SECONE~
:\l:};sht; might provide that detaxl'ed mfofr—
mation, For example, 110-12850 might refer
to accounts receivable from customer number
12850. The organization might, therefore, sell
§5,000 of its product to customer 12850 on
account. It would record a $5,000 increase in
its account number 110-12850.
Charts of accounts can be quite flexible.
If an organization has five divisions, it can set
aside one digit for each division. That digit
might come at the beginning or the end of
the entire account code used for each trans-
action. Also, the organization may choose to
use the chart to identify specific programs,
projects, departments, or other information.
Thus, an account number might look some-
thing like “4-110-12850-028” This account
number might indicate that the home health
division (division 4 of the company’s five
divisions) has an account receivable (110)
from customer 12850 related to hospice ser-
vices (028).
Although this ma
actually keeps thin,
know how

Y appear complicated, it
Bs clear and simple once you
. the organization's chart of accounts
18 set up. The official chart of accounts pro-
vides the guide to the system of accounts
Fsed by any organization, |t first defines th

intended purpose of each digit and the m, :
ing of cach number containeq in each djj 'lee;n-
the first thing you Jearn is that the ﬁrs%1 d ["’
represents the division of the Organization :;g):

that the specific numby i
o she B €I associated with each

case indj
se indicates ap asset, Iiabilily reveny,
3 e, or

expense. If the second digit is 1 in thyg
it means asset account. The next %
indicate the specific asset, liability, re"enueglk
expense. Thus, the 110 after the first b ];or
indicates specifically an accounts rece
asset. And so on.

Generally, in addition to dEﬁning .
meaning of each digit and providing 5] dat:
needed to interpret an account Numbey,
complete chart is also maintained. Thig alloy
a user to look up any specific account num,
ber. Bear in mind, however, that the chart
of accounts is a dynamic document, New
accounts are frequently added to an account.
ing system, and it is important to keep the
chart of accounts up to date.

syStEml

ivable

» Key Concepts

Double-entry accounting Each financial
event affects the basic equation of accounting,
For the equation to remain in balance, every
event must affect at least two items in the equa-
tion; thus, the “double” entry.
Journal A book (or computer memory file)
in which all financial events are recorded in
chronological sequence.
Debits Increases in assets and expenses;
decreases in liabilities and revenues.
Credits Increases in liabilities and revenues;
decreases in assets and expenses.
Timing for recording transactions Journal
entries can be made only if the amount of
money involved and the timing of the event
are known with reasonable certainty and if
there has been exchange by at least one party
to the transaction,
Adjusting entries Most financial events
occur at one specific time and are recorded 3
they occur. Some financial events occur con”
tlnfmusly over time, such as the expiratiot
of insurance or the accumulation of interes*
Adjusting entries are made immediately priot
:;ein:: cial statement preparation to brin8
counts up to date,

» TestYour Knowledge
1.

4

Describe the basic accounting equation,
How does the double entry accounting
system work?

What is the accounting journal?
Create a journal entry and a T-account
entry for each of the following
transactions:

a. $30,000 worth of supplies pur-
chased with cash

b. $10,000 worth of supplies used to pro-
vide clients with goods and services

I}

P

g

-

Test Your Knowledge 69

. Wages due to employees that had

been previously recorded as a liabil-
ity now paid in cash in the amount
of $50,000
Bills submitted to insurance com-
panies in the amount of 90,000 for
services rendered to patients
Cash payments of $60,000 received
for services previously provided
and billed
$5,000 worth of additional supplies
purchased on account
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CHAPTER 8

Reporting Financial
Information—A Closer Look
at the Financial Statements

hapter 7 discusses how each of the numerous financial transactions affecting an organi-
zation can be recorded into the organization’s financial history through the use of a jour-
nal and journal entries. When the organization gets to the end of an accounting period
(whether a month, quarter, or year), it wants to report what has already occurred. Some method
of summarizing the massive quantity of information that has been recorded into a format concise
enough to be useful to those who desire financial information about the organization is needed.
Financial statements are used to present the organization’s financial position and results of
operations to interested users of financial information. As Chapter 5 discusses, financial state-
ments are only several pages long. How can an organization process its journal entry information
in such a way as to allow for such a substantial summarization? It does it via use of a ledger.

» Ledgers

A ledger is a book of accounts, and an account is an item we would like to keep track of. Every account
that might be affected by a journal entry is individually accounted for in a ledger. Although many orga-
nizations have computerized their bookkeeping systems, so that they no longer have a physical ledger
book, you can think of a ledger as if it were simply a book. Each page in the ledger book represents one
account. For instance, there is a page for the cash account, a page for the inventory account, and a page
for patient revenue. As Chapter 7 describes, every time we make a journal entry, we are changing the
amount we have in at least two ledger accounts to keep the basic equation of accounting in balance.

An intermediate benefit of the ledger system is that it allows us to determine how much we have of
any item at any point in time. For example, suppose someone asked )'fou on May 4 how much cash -you
currently have. One way to provide that information would be to review each journal entry made since
the beginning of the year, determine which entries affected cash, and calculate by how much the cash
total has changed. This, however, presents an enormous amount of work.

ral
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imm:diatclyaﬁcr
Jate our ledger
result of that

Usingaledger 3]«[\1\\.1(1\.
making a journal entry: W€ P
™ account changed as 3 FEEC :
for cach accou hapter 7, the first thing
entry. For cxamples u.(I MII; ,\-pi‘l alin 2019 was
calthy Hos X
that happened to lh‘a‘lrl:l:w or 6,000, which
the purchase of insurance & diture requires
was paid for in cash. This expendit ash and
ou to go to the ledger account for €
you fo g : cell as go to the
chow a decrease of $6,000, as Well &  show
Jedger account for prepaid insurance a.n
an “ncrease of §6,000. At the same time, you
would update the balance in each account.

The ledger is, in some respects, a more
complete picture of the organization than the
journalis. Each year, the journal indicates what
happened or changed. The ledger not only
contains this year’s events, but also indicates
where the organization was at the beginning
of the year. For instance, Healthy Hospital had
$104.000 in cash at the end of 2018, according
to Table 7-1. Our cash account in the ledger
shows $104,000 as the opening balance at the
beginning of 2019. Thus, when the insurance
was purchased on January 2, 2019, you would
be zble to determine that the initial balance
of $104,000 was decreased by $6,000 and that
lhe.rc i§a remaining cash balance of $98,000.
Thls givesa better overall picture of the orga-
nization l}x@ the $6,000 change alone does.
bahnﬁ.sm"“u)‘ the ledger combines account
balances from the beginning of the Year with the
Journal entries recorded duri.ng the year. All of
L}:‘m :‘xg!i:la"“f for the year can be found

4 Pprevious years ending balance
s‘hm, also called the statement of financia] po;
tion. The organization . posi-
beginni rganization’s financia] position at the

inning of the year is identica) 10 it financia]
Position at the end of the previ

fore, !

:;ed 10 update the ledger mxuunu:all'h
JAnce In each account jg the su:;1 of
ing balance plu the changes re, i
account during the yeqr, e

‘

on—r -~

» Healthy Hospital’s
Financial Statements

TABLES-1 presents the information from which
cou can prepare a set of financial Statemepy,
for Healthy Hospital. This table Tepresents ;
highly abbreviated ledger for the entire org;
nization for the whole year. All of the journg]
entries for the year have been recorded, Each
column represents one ledger account; thyy
is, each column is the same as one Page in 5
ledger book. The opening balance is Tecorded
for each account, based on information from
Table 7-1, Healthy Hospital's December 3l
2018 balance sheet. The horizontal lines repre-
sent the individual numbered journal entries
from Chapter 7. A running balance in each
account has not been provided in this example,
A number of the ledger accounts in
Table 8-1 start with a zero balance. This occurs
for one’of two reasons. The first reason is sim-
ply that there was no balance at the end of the
previous year, so there is no balance at the begin-
ning of the current year. Such is the case with
prepaid insurance. The second reason is that
some items are tracked year by year rather than
cumulatively. The income or operating statement
accounts relate specifically to the accounting
period (month, quarter, or year) only. The orga-
nization kept track of its income for 2018. Once
2018 was over and its results were reported in
the financial statements, the organization wished
to ke’ep track of 2019% income separately from
2018%. Therefore, all of the revenue and expense
accounts start 2019 with a zero balance. When
the c'f"Eaﬂizzltiorl gets to the end of this year and
:ﬁ.ﬁ'o\:hat Was our revenue this year?” the orga-
o yearw::ls to know the revenue of the cur-
vl ,md]i)arate and apart from any revenue
ooy er years. The revenue and expensé
they stanaze ;alled temporary accounts because
lisbiliy andac year with a zero balance. Asseb
1’>erm net asset accounts, conversely, ¢
anent accounts because any ending

b: ;
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ext fis-
balance for those sameé accounts fg; T;}l:er .
cal year (i€, they are “rolled t?::r 7:em el
starting those accounts Over W ; e
The key to conveying financi s
is the ending balance of each .Iedgef dé;c ey
longasyouare usinga systerx:{x 1(}11 :‘\;}:Le ien di\rjidm]
¢ is posted or recorde
lnezlg:?ccofms involved, you are able to 'c:';ter-
mine the ending balance in each accoluntA des;
ending balances provide the infon.natlon neede:
to prepare a complete set of financial statements.

Use TEMPLATE 4 to record journal entries, post
them to ledger accounts, and calculate ending
balances that can be used to prepare financial
statements. The template is available at this
books companion website. Please redeem the
code found at the front of the book to access
the template.

The Operating Statement

TABLE 8:2 presents the 2019 operating statement
for Healthy Hospital. The operating statement
for any organization consists merely of a com-
parison of its revenues and exp
statement preparation looks a
: g:;l; [;:I::Z a.nd tehxperlse ledger account. The
in the Tevenue acco
bn;ut.torr{ of Table 8-1 shows Tevenue ufu:ltlztot;loe
w] :h_xs exactly the same a5 the revenye U"l (hé

8-2. You can com-

enses, Operating
tthe ending balance

expense ledger accoynys
Notice that the [ag; ;
) h ast line in Ty i
E:e m»creqse in net gssefs, F«;)r—pr}:fliet8!1-2 Oy
Banizations often refey to thi o cae
whereas not-for-profit l '

s as
ncrease in et gssers, Simj

Organizatiop,
an
shown as a yey g, or

2 loss e,
4 decregge in ney us:.le?sbl‘;‘

e ———

TABLE 8-2 Healthy Hospital
Operating Statement
For the Year Ending December 37 019

Revenue $ ”2’000
Less expenses |

Inventory $ 56,000 1

Labor 22,000

Interest 12,000

Insurance 2,000

Depreciation 12,000

Total expenses 104000 ‘
Increase in net J
assets S 8000

financial statements for 2 years are shown sideby
side and there was a profit 1 year and a loss the
other, the heading becomes change in net assets.
Where did the “increase in net assets’
lgrmino]ogy come from? Generally, all orge-
nizations, whether for-profit or not-for-profit
attempt to earn a profit each year. However
many not-for-profit organizations are uncoi-
fortable subtracting expenses from revens
and reporting the difference as net income
%€ organizations fear that would give e
plfb]ic an incorrect impression—the publi
:ugh[~ view the organization as a for-proft
"Banization if it were to see the Ol’ganmllon
r:guzar:ed income, This could SiE“iﬁcde
© rec:i Onations the organization might ho‘;
atten, ve or make the organization a target
SP‘S 10 limit its tax exemption.
4 ffereonln alternative name was sought foriT:
¢ between revenues and exper

Revenue transactions result in an increase in net
assets. For example, a health care organization
provides care and gets paid $100 for that care,
Cash goes up $100 on the left side of the funda-
mental equation and revenue goes up $100 on the
right side in the net assets category. So, net assets
increase by $100. Suppose it cost $80 to provide
that care. Expenses result in either a decrease
in assets or an increase in a liability, as well as a
decrease in net assets. So, net assets would have
declined by $80. Because net assets rose by $100
and declined by $80, there was a $20 change in
net assets. Because it was a positive net change,
it can be referred to as an increase in net assets.

The Balance Sheet

The net assets ledger accounts (i.e., net assets
without donor restrictions and net assets with
donor restrictions) in Table 8-1 have the same
balances at the end of the year as they had at
the beginning of the year. As noted, the net
assets of an organization increase when it has
revenue and decrease when it has expense. In
fact, every revenue increases net assets, and
all expenses decrease it. Healthy Hospital had
both revenues and expenses, but the net assets
accounts have not changed. The reason for this
is that it has simply been keeping track of the

TABLE 8-3

Beginning balance 1/1/19
Donor gifts for 2019
Increase in net assets for 2019

Ending balance 12/31/12

- Financial Information ents
rting Financ
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specific changes in revenues and expenses sep-
arately, instead of immediately showing their
impact on the net asset accounts.

By keeping track of revenues and expenses
in detail rather than directly indicating their
impact on net assets, additional information
is generated. This information has been used
to derive an operating statement. If you simply
changed net assets directly whenever there was a
revenue or expense, Healthy Hospital would not
have had the information needed to produce that
statement.

Neverthelesss balance sheet preparation
requires updating the information in the net asset
accounts. TABLE 83 provides a statement that
updates both net asset accounts. In Table 8-3, you
can see that the net asset with donor restrictions
account did not change this year. This account
changes as a result of gifts from donors. The
increase in net assets without donor restrictions
is a result of the difference between the $112,000
of revenues and the $104,000 of expenses.

All of the information used in Table 8-3
comes directly or indirectly from the ledger
accounts shown in Table 8-1. The increase in
net assets figure in Table 8-3 does not appear
anywhere in Table 8-1. It is a summary of the
year-end revenue and expense items from
the operating statement (Table 8-2). All of

Healthy Hospital
Analysis of Changes in Net Assets
For the Year Ending December 31,2019

Net Assets Without Net Assets with
Donor Restrictions Donor Restrictions
$ 146,000 $ 20,000
0 0
8,000
$ 154000 $ 20,000
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[hifﬂ;,le \soi :5:};:20351( the information
ble 8-1.

T:ad:d to produce balance shee;‘ Hospitd
" The balance sheet for .Hea;“}'i L e
statement for 2019 appears in Tdirec(ly rom
asset and liability balances cameb o
Table §-1, and the net asset DA e s
derived from Table 8-3. The pr.epalta e
financial statement is really quite Sll,ﬁ;};n ;es -
the ledger account balances: The bal g
transfe;red to the financial statement W .
main work involved being the detemun; o
which accounts are short term and whic!

long term.

TEMPLATE 5 uses the journal entry information
from TEMPLATE4 tc derive a Statement of
Qperations and Changes in Unrestricted Net
Assets and a Balance Sheet. The template is
available at this book's companion website.
Please redeem the code found at the front of
the book to access the template.

The Statement of Cash Flows

The one remaining financial statement that is
widely used to report the results of operations is
the statement of cash flows. As discussed in Chap-
ter 5, this statement focuses on the organization's
sources and uses of cash. This statement also pro-
vides insight about the organization's liquidity, or
its ability to meet its current obligations as they
come due for payment.

The statement of cash flows shows where
the ml'ganization generated its cash and how jt
used its cash over the entire period covered by
the financial statement. This feature is simil, G
to the operating statement, which shows re\;jr
enu.es and expenses for the entire accountj; i
period, and is different from he balance shy o
Mv'hlch shows the organization’s financia] ee",
UOI}II ?lt a sirllgle Point in time, The stateme}:::sn]-f

cash flows is divided into three major sections;

e

forma‘iu“’A d

oser LouR e+ Iy

LE 8-4 Healthy Hospital
LH Balance Sheet

As of December 31,2019

Current Assets:
Cash $ 40000 |
Prepaid insurance 4,000 i
Accounts receivables 120000 |
Inventory w
Total current assets $ 178000
Fixed Assets: y
Plant and equipment, net __108000 ]
Total assets $ 286,000 1
Liabilities
Current liabilities
Accounts payable S 34000
Wages payable 6,000
Total current liabilities $ 40,000
Long-term liabilities:
Mortgage payable 72,000
Total liabilities $ 112,000 l
Net Assets
Net assets without donor $ 154,000 |
Testrictions
Net assets with donor $ 20,000
restrictions
Total net assets $ 174,000
Total liabilities ang net assets ' i_LL_OLO

cash from operating activities, cash from
investing activities, and cash from ﬁnancing
activities.

The operating activities are those that relate
to the ordinary revenue and expense-producing
activities. Organizations tend to be particularly
interested in how their day-to-day revenues and
expenses affect cash balances. These activities
include items such as payments to employees
and suppliers and collections of cash from cus-
tomers. A controversial element involves inter-
est and dividends. Many people believe that
interest and dividends are more closely asso-
ciated with investing and financing activities.
However, interest and dividends received and
interest paid must be included with operating
activities because they impact revenues and
expenses.

Theinvestingactivities of the organization
relate to the purchase and sale of fixed assets
and securities. It is clear that the purchase of
stocks and bonds represents an investing activ-
ity. The accounting rule-making body deter-
mined that the purchase of property, plant,
and equipment also represents an investment
and should be accounted for in this category.
Lending money (and receiving repayments)
also represents an investing activity.

The financing activities of the organiza-
tion are concerned with borrowing money (or
repaying it), issuance of stock, and the payment
of dividends. Note that when an organization
lends money, it is investing. However, bor-
rowing money relates to getting the financial
resources the organization needs to operate.
Thus, borrowing is included in the financing
category, along with issuance of stock. For-
profit organizations may choose to distribute
some of their profits to their stockholders in
the form of a dividend. Dividends paid are
considered a financing activity because they
are a return of financial resources to the orga-
nization’s owners. They are not included in
operating activities because dividends paid
are not classified as an expense, but rather as
a distribution to the organization’s owners of
income earned.
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There are two different approaches to cal-
culating and presenting the statement of cash
flows. These are the direct and indirect methods.
Under Generally Accepted Accounting Princi-
ples, health care organizations may use either
method. TABLE 8-5 presents an example of the
statement of cash flows prepared using the direct
method. The direct method lists each individual
type of account that resulted in a change in cash.

Looking at Table 8-1, you can see that
cash was affected by transactions 1, 2, 5, 8,
and 9. Review of each of those journal entries
provides the information needed to prepare
Table 8-5. For example, transaction 1 consisted
of a 86,000 payment for insurance. Therefore,
the decrease in cash was for an operating activ-
ity, specifically payment for insurance.

This may be a cumbersome task when
there are a large number of individual trans-
actions. For example, how much cash was
collected from customers during 20192 By
looking at transaction 5 from Table 8-1, you
know the answer is $28,000. You can see the
increase in cash and the reduction in accounts
receivable. Typically, however, there are an
extremely large number of individual journal
entries related to receipts from customers.

Rather than reviewing each transac-
tion, accountants usually prepare the cash
flow statement by making general inferences
from the changes in the balances of various
accounts. Note that accounts receivable at
the beginning of the year were $36,000, and
patient service revenue during the year was
$112,000. Combining what was owed at the
beginning of the year with the amount billed
to patients and insurance companies this year
indicates that there was a total of $148,000 that
Healthy Hospital would hope to, eventually,
collect from insurers and patients. At the end
of the year, the accounts receivable balance
was $120,000. Therefore, you can infer that
$28,000 must have been collected (i.e., the
$148,000 total due less the $120,000 still due at
the end of the year).

Consider another example: The mort-
gage payable account started with a balance of
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ing act
Cash flows from operatind El

i ers
Collections from third-party pay!
payments 10 employees

payments 10 suppliers
payments forinsurence
Payments orinterest
Net cash used for operating activities
Cash flows from investing activities
None
Net cash used for investing activities
Cash flows from financing activities
Payment of mortgage principal
Net cash used for financing activities
Netincrease/(decrease) in cash

Cash, December 31, 2018

Cash, December 31, 2019

$80,000 and ended with a bala

_(see Table 8-1), Rather t nce of $72,000

the financing activity of

this inferep,
] ce
Possible, for insuncl: p

‘

nformaﬁo

Healthy Hospita!

Cash Flows (
tatement :,ffnd"‘g pecember31:

A Closer LOOK & L 1 iaihial Stateme,
n—

Direct Method)
2019

§ 28000
(36,000)
(30,000) )
(6,000) i
(12000
$ (56.000)‘
0
$_ 8000
(8,000)
$ (64-000]“
10400

on the mortgage principal, but a new mort
8age of $32,000 was taken on a new pie®
€quipment. The statement of cash flows mist
show both the source of cash from the et
gllol’tgage, as well as the payment of C‘fSh )
s Old mortgage. Therefore, prepe®
¢ Statement requires, at least, some in-dep

—

knowledge about changes in the accounts of
the organization.

An alternative approach for developing
and presenting the statement of cash flows is
referred to as the indirect method. The indi-
rect method starts with net income, or the
change in net assets, as a measure of cash from

TABLE 8-6
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operations. It then makes adjustments to the
extent that net income is not a true measure of
cash flow. TABLE 8-6 is prepared using the indi-
rect method.

One of the most common adjustments
to income is for depreciation. When build-
ings and equipment are purchased, there is 2

Healthy Hospital

Statement of Cash Flows (Indirect Method)
For the Year Ending December 31,2019

Cash flows from operating activities
Net income
Adjustments
Depreciation expense
Decrease in inventory
Increase in accounts receivable
Increase in prepaid insurance
Decreases in wages payable
Total adjustments to net income
Net cash used for operating activities
Cash flows from investing activities
None
Net cash used for investing activities
Cash flows from financing activities
Payment of mortgage principal
Net cash used for financing activities
Net increase/(decrease) in cash
Cash, December 31,2018

Cash, December 31,2019

S 8,000
$ 12,000
26,000
(84,000)
(4,000)
(14000
(64,000)
$ (56,000
0
s (8000)
(8,000)
$  (64,000) ‘
104,000
$ i 40,000

-4
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» Key Concepts

the impact of financial events on each account

is kept. The ledger can provide the balance in

any account at any time.

Operating statement preparation The

operating statement is directly prepared from

the year-end ledger balances of the revenue

and expense accounts.

Balance sheet preparation Ledger account
balances can be used to provide an analysis of
changes in net asset accounts. This analysis,
together with other ledger account balances, is
used to prepare the balance sheet.

Statement of cash flows This statement
shows the sources and uses of the organization’s
Fash. I't specifically shows cash from operating
investing, and. financing activities. It can be
Prepared under two alternative methods:

& Direct method—Lists the change in cash

. caused by each account.

" Inditect  pephog_stares  with 0t
iNcome, as an estimate of cash flow, and
Makes a serjes of adjustments 10 el
Income (4 determine cash flow fro™
Operating activities,

> TestYour Knowledge

1.

How do ledger and journal entries
interact with one another?
Explain how the ledger provides the
information needed to prepare the bal-
ance sheet.
Explain how the ledger provides the
information needed to prepare the
operating statement.
What is the main purpose of the state-
ment of cash flows?

w

Test Your Knowledge 81

What are the three categories used
within the statement of cash flows?
Why are these categories important for
understanding an organization’s cash
situation?
Differentiate between the direct and the
indirect methods for preparing and pre-
senting the statement of cash flows.
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